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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
o A et S G o

(a) Which measure of central tendency is
known as positional average?

@ RIOR @G (G TS G
G 7 ?
| \@/ What is the SD of the following values?
7,771,717, 7
G AR T3 {257 357

77,7, 14,7
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(d)

(e)

(g)

(h)

(1)
0)
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(2)

What is meant by Kurtosis™?

Tt 3T e I

What does r =0 signify?

r=0@ R TE T@?

Define a random variable.

o bR ik fi |

In a Poisson distribution mean= 7,

variance = 8.
(Write True or False)

51 ~[FD’ IBTS AT = 7, P =8.
(% 1 SR o)

E(d) = ?, where c is a constant.

E(¢) = ? TS ¢ (=R 90! &7 |

If P(A or B) = P(A)+P(B)- (AN B), then

what will be the nature of the events

A and B?

i P(A 7@ B)=P(A)+PB)-PANB),
(ST A WFE B (I 4o WoeT 7

What is joint probability distribution?
A sfRe fReed {2

When does a sampling error arise?

2feva @io @ 29 3 2

( Continued )

2. Answer the following questions :

(3)

T AR Taq foR

\{}/

)

/iC)/

(d)

/
/

(e

22A/41

For any two unequal positive numbers
a and b, prove that AM >GM.

R 01 SPHA NS SR a JEF KA A
19 T @ AM > GM.

What is the probability that a non-leap
year will contain 53 Fridays?

@1 S-SR A 535 WERR RN
eI fF 2

If the covariance between x and y
variables is 12 and variances are 16 and
9 respectively, find the correlation
coefficient between x and y .

it x W y P 559 2 12 W HE R
TAAA 16 HE 9 W, (ST T TAFYHE T
AT Sferaqr |

If X; is a random variable with
respective  frequencies  f; where
i=12, 3, -+, n, show that E(X)=X.

M X, b1 WS 5 W AR IR S, T,
TS =123 -, n, (SR &yed @
EX)=X.
Mention two

sampling.

AoeT 2ifSvaeR o1 e Teay < |

methods of random

( Turn Qver )
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(4)

3. Answer any four of the following questions :

5x4=20
e fra ereprEa R vfeee Teq for

(a) Find the first four moments about the

mean from the following distribution : 5

o RS qgIR o[ oF wRer gfs
Tferea :

Heights (inch) : 60-62 63-65 66-68 69-71 72-74
Twey (%)

Frequency 5 5 18 42 27 8
IR

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and -1. 5

S @ I PIEReR T2aad =2 +1 9@
13 9% ACE |

(c) Define conditional probability. | If
P(A)=0-4, P(B)=0-7 and P (at least
one of A or B) =0-8, find P (only one of
A and B). 2+3=5

vECrE WEIikeR wise fm | Aft P(A) =0-4,
PB)=0-7 9F P (I A 231 BR db1)
=0-8 T, (SG12'TH P(A 9% B3 R
9B1)3 FEIfee s |

22A/41 ( Continued )

(5)

, A random variable X has the following

(d)
A/ probability distribution :

a6 AT T X @ TR el 3%

S Y T
X : 4 5 6 8 9 11
P : 01 03 04 02 05 03
Find mean and variance. 5

T ¢ A9 Tfejaq |

(e) Explain the principal steps of a sample
survey. S

Ao o7y RifSn Faa™ was F47 |

Answer any four of the following questions :
. 10x4=40
o fIeeT Bfab1 2 Teq foen

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :
fRegad w1 52 Wr fen @rER 72 wm
IR o4 2PRY e :

Age (years) ¢ 20-30 3040 40-50 5060 60-70
771 (32)

No. of persons : 170 110 80 45 40
TEEI T

Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10

fogem @R e e o 1 e
W
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‘—i

(6)

~iis

&L“ TN 1.08.:1\2 a..ad

AAS3dAve QQAITei’oNn. nld d.e ‘i’uu\
- >

2 between X and Y from the

WT“
e TS
¥ 2 o S
3T e R o
Sy - o -
- N X TF R &
o= ; =TT
X - IS
T o e B1T® s o3
31 a 12
~l - :J IS 19 :; 11 ‘6 l‘
= 1 S

Armaly—s o

analyze the result S
~ 3+5+2=1
T ST = 0

= and p rem
prove Baye's
probabiity. An urn contai TR -
¥. An umn contzains 10 white, 6

(A
i

e
< 2alls. 3 balls are drawn

e J \:&::a: is the probability
Bat they are drewn in the order of

i white if the hall
e vaite 1 e balls are not
repacec after each d-'ﬁ'x’ _
: 5+5=10
< - = -
:~2»2:Z‘z_.u‘—,,—.?z_§u e o
€= =% 105 3 S . 13
€ 107, 65 F == 35733 =
TITF T 9T & 5793 5= == 3
X % o=y —

== —= =
T So TF ~
— T T ™ =
= ~X PRE IFS I W
s a“’_'_ = L < <
WEml T SN 1S = LT T 2
- h

z':mﬁ‘;%?%;—.:«

ﬁf“rl‘é
22
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(7))

(d) Obtain the constants of a Binomial

(e)

22A/41

distribution. In an intelligence test of

1000 childrens, the average was 42 and

3D was 24,

@ Find the aumber of children
exceeding a score of 50.

(@ Find the aumber of children Iying
between scores 30 and 3%

(@ Find the value of score exceeded by
the top 100 children. 5-2+2+1=10

& X
o i S,

Teas ST Lo csﬂ-p2n‘$q«\-2<_ -
N

24

(@) 30 == 543 T C TR OTF S R

@ TR TR T 100 = B®R =T
-

XX
oo
N IA
(S
/AT
) 0
28
o |
IR) o
O -
N o
(ﬂ O

w

] Distinguish ~ berween probability
mass function and probability
density function.

( Turmn Over )



(8)

(i) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are

o + and L respectively. What is the

probability that the problem will be
solved? -

(i) Under what conditions Binomial
distribution tends to normal
distribution? 3+4+3=10

(i) B4 S9 Fof F AR TTg Foq
N1 fort |

(ii) M T =R 9O 590 A, B 9F CF
ST FRAcE T = S Y F9R
eI At e L, 1 w® I =,
AT Ry B 1 4 B 1 1 o e s | )
e 2

(it)) P (T D9 YRS Ao IT YR
IBAC TS =W ?

Explain the different types of sampling
with their relative merits and demerits. 10

zifopra ffon ooz weefee aMa [ Ge

SICAToAT P4l |

* kK
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